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Choose the correct answer from the following
questions (any six) :

(@) CIETPR ARFRE PR CFaS RN Mg
ST

In the case of refraction at spherical
surface, the influence of surrounding
medium is

() SR PR AT TR
prominent for concave surface
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(2) (3)
(“)%f:"’lﬁmm (i) “prors wEw R IR el AR AR
Prominent for convex surface not coherent but can be viewed with
(@) o aked eyes
T IR o8 naked sy

(iii) Proe RrE AR 3 IR AR
coherent but cannot be viewed with
naked eyes ,

Prominent for p,
. th
(iv) @ the surfaces

None of
B o o g -
9T @y . (iv) RS T - A v TR e
=, SR O ST } not coherent and cannot be viewed
When R = with naked eyes

) RR- MY A
T!'le . llnages of %
Sl “are

(d) TR SoRE B @B ARG TS

W) O oy
thick leng Diffraction of light is a phenomenon
@) s . wherek
 thin Jeng () TR & R e I
(i) ::m m w light travels along a bent path
(iv) e,:; F the above are corpect (i) T @A TE WA W o e
Non, S gy =y ArHe =
¢o light falls on the region of geornetrical

shadow of an object

(iii) @7 AL BT

Both of the above are correct

(iv) (i) R RGO B T

Option (ii} is not correct

R =

a . i)
| slit proguced by 2 |

30
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(5) 3(

(g) ‘Rt XTE A TRE AR 9 Tew
T Q4R IR (TR W W5 FR oM 17

vT?
Which of th FATS
e followin . .
that can pe Hlowing options is correct «Under suitable environment, a convex

lens may behave like a concave lens.”
This statement

theory? explained by Huygens’ wav

Interferen ] ﬁﬂ
ce and di . )
(ii) EE@‘ - iffraction is true
Taction and . 2
1 . g
(i) TG, - arlzamuson “ is fal
Interfei-enca i o
 Polarizargy’  Gifffaction  and (i) =TEF '3 R T
(iv) Regoay (i) e cannot be distinctly verified
Option () RS ARG :
an (iv) SR N ST
PRfSS ey . is irrational or impossible
Ber 34 %”“c'% R TR I
When )
Unpolary QA
th arized 2. Tey A . =
men the intensity oh t gets polarize d, ware faar & Wl PE . 2%x6=12
Compgyy son the polarized light Answer any six questions from the following :
Wil be o- € unpolarized light
.1
(1)5 (@ @ aPe ML AEEF 15 T 40 cm
i 1 S PP O PR TIR ooff Refg w11 2
<1|» Calculate the focal length of a lens of
(i) 2 radius of curvature 40 cm for which
1 refractive index of the material of the
R lens is 1°5. ’
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(b) =T By

(6)

> (S @ s ofra®
S () MY Ropery, (2 72 F
TWwﬁa"wQR’W@Q’WIa=2f1

(03 Rerary
ey sh

From the follnw.:
in g ollowmg diagram, show thal

Uygens’ .
Conditiop €Y¥epiece, the necessary

. cTences  between

faction fringes.

S Max; um.nh’al fl"inge in

(e)

(9)

3(
(7)

oot fi AR [T $°3 MR & A

@M fict TR w37 @} TRBE T IR
R 1+1=2

Can you say from the following diagram
to which side the central fringe will get
shifted? What is the cause of this shift?

T RS 7 @ PR TR A
GIERE] RS F TS G WH 7

‘ @ ' 1+Ya+%=2
Wh.at. is polarization of light? What are

the factors responsible for circularly and
elliptically polarized light?

@ R R W @ s =
SAe AT WES 4 P AN Seay
Eallt 2
Mention two differences between the

interference fringe patterns formed by
Fresnel biprism and Lloyd’s mirror.
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1 R oo oy R Tey IR :
AHSWer. an:
following .

(8)

Y fe qQuestions

s
Refracu'on e A g

O . il
Surface N concave spherical |

€Xprese;
at oo for magnification
prCOPe Or a microscop¢-
oduces  the fin

the natyre of the

1=

()

@

(e)

|P7/433

2
(9)

~

' cob R 7 (RSN @ W' (BT S-orfEe
o I £ 1+5=6

What is zone plate? Show that the area
of the half-period zones of a zone plate is
constant.

mﬁscmqﬁﬁﬁawﬁ@maﬁﬁw

< 1 gera o Bl RS CIICH!
WQﬁﬁ@WI 4+1+1=6

Describe any experiment which can
produce polarized light. Write Brewster’s
law and draw a diagram to show the
angle of polarization.

f%—zri%wact 7 E-W 9§ OIMR TEr© 4
@mw«nmwwfmww
o @ | T W FNE Fhe

<frcen e o0 2 TR IO B fet
1+(¥ax2)+1+2+(%x2)=6

What is double refraction? Mention two
differences between E-ray and O-ray.
Define optic axis of a crystal. What do
you mean by negative and positive
crystals? Give one example of each.
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(11 ) 3
(b) ‘TR R-RE TR IR

Experimental setup of Young’s double-

slit experiment

() SEE LA

Optical rotation

(d) T T

to each other-.
' Combination of lenses

¢ . intensity of

% K %k

’ ﬁf%‘&’%@ ¢
EX MIET ﬂ"“’[‘f@@
By, O (O ST e GO

com refractive i o1
Pletely. polar; edlndcei-:lg 115; it t}iz
Tefraction, | 9€NCe  ang cir?gfe o
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